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Double gain study



Review

signal x 2 x gain

x 2 gain

In order to get rid of Attenuator coefficient 0, through Jumper,

Try to do “energy x gain → energy x 2 x gain”

In the other words, gain =0.3960111 when coefficient=0.

The correction is made as follows : energy x 0.7920222
Gain x2
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Results of calibration : 2D plot for ECL and ECLTRG TC E
ADC conversion factor 5.25 6.0 7.0 8.0TEST



How to get new-new Attenuator coefficient

1. 5.25 ADC facto를사용했던기존 raw data 를 7.0 ADC factor를이용하여보정. (exp21 run9999)

2. 1의결과에서 Attenuator coefficient가약 300개가량에서 0이나옴. (exp21 run9999)

그계수들에게 jumper를적용한다고가정하고, new Att coef가 0인값들을두배시켜줌. (exp24 run994)

3. 1의결과에서 0인계수를 2배해준최종결과의보정계수를가지고

1을통해서보정된결과값을한번더보정시킴.



Doubled



Results of the calibration



Problematic TCIDs (#23) with 0 of Att coef : 

103, 115, 139, 151, 172, 174, 235, 247,

258, 259, 271, 283, 296, 367, 379, 391, 403, 415, 451

Tcid 77 is well calibrated.

“flag_att0” means that Att coef is 0. 







Backup 
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0.6714629

0.6230228
= 1.0777501

𝑁𝑒𝑤 𝑔𝑎𝑖𝑛

𝑂𝑙𝑑 𝑔𝑎𝑖𝑛
= 𝐺𝑎𝑖𝑛 𝑟𝑎𝑡𝑖𝑜

Solve matrix (β) =
𝑂𝑙𝑑 𝑔𝑎𝑖𝑛

𝑁𝑒𝑤 𝑔𝑎𝑖𝑛

V = β * M

β= (M)^(-1) * v

Simulation

(new value)

data

(old value)
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그래서위그래프가 coef 63이약 300개정도더많다



Results of double gain

No double gain when coef is 0








